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Today’s trivia question 
• When results were presented on 4 July 

2012, which two channels when combined 
gave both CMS and ATLAS a 5 sigma 
significance? 
 



Boson -> 4 leptons 
 

Data (black dots) 
match simulation of a 
Higgs boson (red line) 





Check out the animations: 
 
https://twiki.cern.ch/twiki/bin/
view/AtlasPublic/HiggsPublic
Results#Animations 
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Today’s trivia answer 
 
ZZ and gammagamma 



cern.ch/LHCathome 



http://www.quantumdiaries.org/author/cern/ 



cern.ch/hangouts 

• Live streams 

• Archives 

• Schedule 

• Resources 



Participants 
Nazila Mahmoudi, CERN theorist 

Heather Gray, ATLAS physicist 

Pauline Gagnon, ATLAS physicist and CERN blogger 

Victoria Martin, ATLAS physicist, University of Edinburgh 



Credits 
Tara Shears –– Host 

Kelly Izlar –– Q&A from Social Media 

Kate Kahle and Achintya Rao –– Production 

 

 

 

Thank you for watching! 
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